



There is a number associated with any square matrix and it is called its determinant.

$$A = \begin{bmatrix} 1 & 3 \\ -2 & 4 \end{bmatrix} \qquad det(A) = \begin{vmatrix} 1 & 3 \\ -2 & 4 \end{vmatrix}$$
Matrix

Det.

$$\begin{bmatrix} 2 & 1 \\ 3 & 5 \end{bmatrix} = -2(5) - 3(1) = -10 - 3 = \begin{bmatrix} -13 \end{bmatrix}$$
Evaluate:
$$\begin{bmatrix} 2 & 1 \\ 3 & 5 \end{bmatrix} = 3(-4) - (-6)(2) = -12 - (-12) \\ = -12 + 12 \\ = \boxed{0}$$

Cramer's Rule

$$\begin{cases}
2x - 3y = 5 \\
x + 2y = -1
\end{cases}$$
Det. of Coef.

$$\begin{cases}
2x - 3y = 5 \\
x + 2y = -1
\end{cases}$$
Det. of Coef.

$$\begin{cases}
2x - 3y = 5 \\
1 2
\end{cases} = 2(2) - 1(-3) = 7$$
Det. of Coef.

$$\begin{cases}
2x - 3y = 5 \\
1 2
\end{cases} = 2(2) - 1(-3) = 7$$
Det. of Coef.

$$\begin{cases}
2x - 3y = 5
\end{cases}$$
Det. of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef. after replacing and the properties of Coef.

$$\begin{cases}
2x - 3y = 5
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}
2x - 3y = 7
\end{cases}$$
The place of Coef.

$$\begin{cases}$$

Solve 
$$\begin{cases} 3x - 2y = 1 \\ 2x + 5y = -1 \end{cases}$$
 by Cramer's rule.
$$\begin{vmatrix} 2x + 5y = -1 \\ 2x + 5y = -1 \end{vmatrix}$$

$$\begin{vmatrix} -2 & -2 & -2 \\ 2x + 5y = -1 \end{vmatrix}$$

$$= 3(5) - 2(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$= 7(5) - (-7)(-2)$$

$$=$$

The Sum of two numbers is 10.

(3 times one) Greduce by Etwice the other One) is 0.

Use Cramer's rule to Sind both numbers.

$$\begin{vmatrix}
2 & + y &= 10 & D &= 1 & 1 \\
3x & -2y &= 0 & D_{x^2} &= 1(-2) - 3(1) &= -5
\end{vmatrix}$$
Cramer's Rule

$$x = \frac{Dx}{D} = \frac{20}{5} = \frac{30}{3} = \frac{10}{3} = \frac{10}{3} = \frac{10}{3} = \frac{10}{3} = \frac{30}{3} = \frac{10}{3} = \frac{10}{3} = \frac{30}{3} = \frac{10}{3} =$$

```
John has 8 Coins. \sqrt{x} \rightarrow \text{Nickels}

Nickels \stackrel{?}{=} Dimes only. y \rightarrow \text{Dimes}

He has 50 \stackrel{?}{=}. \sqrt{x} + y = 8

How many of each? \frac{1}{1} = \frac{1}{1} = \frac{1}{2} = \frac{1}
```

Evaluate
$$\begin{vmatrix} 3 & -2 & 0 \\ 0 & 1 & 9 \\ 2 & 0 & -1 \end{vmatrix} = 3 \begin{vmatrix} 1 & 9 & 0 \\ 0 & 2 & 9 \\ 2 & 0 & -1 \end{vmatrix} + 0 \begin{vmatrix} 0 & 1 \\ 2 & 0 \end{vmatrix}$$

$$= 3(-4 - 0) + 2(0 - 16) + 0 \text{ (who (aves))}$$

$$= 3(-4) + 2(-16) + 0$$

$$= -12 - 32 = -44$$

$$\begin{vmatrix} 1 & -4 & 2 \\ 3 & 2 & 1 \\ 4 & -2 & 3 \end{vmatrix} = 1 \begin{vmatrix} 2 & 1 \\ 2 & 3 \end{vmatrix} - (-4) \begin{vmatrix} 3 & 1 \\ 4 & 3 \end{vmatrix} + 2 \begin{vmatrix} 3 & 2 \\ 4 & 3 \end{vmatrix}$$

$$= 1(6 - (-2)) + 4(9 - 4) + 2(-6 - 8)$$

$$= 1(8) + 4(5) + 2(-14)$$

$$= 8 + 20 - 28 = \boxed{0}$$
Locations  $\stackrel{?}{:}$  items
$$= \frac{1}{1} (6 + 2) + \frac{1}{2} (6$$

Solve for 
$$Z$$
 by cramer's rule.

$$\begin{cases}
2 + y + Z = 6 \\
2x + y = 4 \\
y - Z = -1
\end{cases}$$
Always

$$D = \begin{cases}
1 & 1 & 1 \\
2 & 1 & 0 \\
0 & 1 & 1
\end{cases}$$

$$= 1 \begin{pmatrix} 1 & 0 & | & 0 \\
1 & -1 & | & 0 & | & 1 \\
0 & -1 & | & 1 & | & 0 \\
0 & 1 & 1 & | & 0 & | & 1
\end{cases}$$

$$= 1 \begin{pmatrix} -1 - 0 & -1 & | & 2 & 1 \\
0 & -1 & | & 1 & | & 0 & | & 1
\end{cases}$$

$$= 1 \begin{pmatrix} -1 - 0 & -1 & | & 2 & 1 \\
0 & -1 & | & 1 & | & 0 & | & 1
\end{cases}$$

$$= 1 \begin{pmatrix} 1 & 1 & 1 & | & 1 & | & 2 & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 2 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1 & | & 1
\end{cases}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 2 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{cases}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1 & | & 1
\end{cases}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1 & | & 1
\end{pmatrix}$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1 & | & 1$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1 & | & 1 & | & 1$$

$$= 1 \begin{pmatrix} -1 - 1 & | & 1 & | & 1 & | & 1 & | & 1 & | & 1 & | & 1 & | & 1 \\
0 & 1 & | & 1 & | & 1 & | & 1 & | & 1 &$$

In triangle ABC,

angle A is 5 times angle C. B

Use Cramer's rule to find angle A.

$$\begin{cases}
A + B + C = 180^{\circ} & A + B + C = 180 \\
A = 5C & B = 3C
\end{cases}$$

$$D = \begin{vmatrix}
1 & 1 & 1 \\
1 & 0 & -5 \\
0 & 1 & -3
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
1 & -3\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 3
\end{vmatrix} + 1\begin{vmatrix}
0 & 0 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 3
\end{vmatrix} + 1\begin{vmatrix}
0 & 0 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 3
\end{vmatrix} + 1\begin{vmatrix}
0 & 0 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 3
\end{vmatrix} + 1\begin{vmatrix}
0 & 0 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 3
\end{vmatrix} + 1\begin{vmatrix}
0 & 0 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 3
\end{vmatrix} + 1\begin{vmatrix}
0 & 0 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 1\begin{vmatrix}
0 & -5 \\
0 & 1
\end{vmatrix} = 100$$

Caraph of the equation 
$$y=ax^2+bx+C$$
  
Contains  $(1,2)$ ,  $(-1,6)$ , and  $(2,9)$ .  
Sind C using Cramer's rule.  
 $(1,2) \Rightarrow x=1 \Rightarrow a(1)^2+b(1)+C=2$   
 $(-1,6) \Rightarrow x=1 \Rightarrow a(2)^2+b(3)+C=1$   
 $(2,9) \Rightarrow x=2 \Rightarrow a(2)^2+b(3)+C=1$   
 $(2,9) \Rightarrow a(2)^2+b(3)+C=1$   
 $(2$ 

2) Solve 
$$\chi^2 - 6\chi - 16 = 0$$